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2 Use of calculator, mobile phone or any other electronic device is strictly NOT allowed.

tor after the examination is over.

Handover the OMR answer sheet to the invigila
b, ¢, d with one right / appropriate

4.  There are 60 multiple choice questions (four choices a,

choice) in the question paper booklet.

ce from the options given in each question. Each correct

5.  Select the right / appropriate choi

answer will carry one mark.
6. There is NEGATIVE marking in the question_paper. 0.25 marks will be deducted for each
Wrong answer. . L :

7. Time limit for the test is 1 hour.
e stray marks on the OMR answer sheet.

1d / spoil the OMR answer sheet. Do not mak

8. Do not fo
ed ‘Rough Work’ at the end of question booklet may be used.

9.  For rough work, the space mark

Sheet is not to be taken out of the Examination Hall. Any candidate found doing

10, OMR Answer

so would be expelled from the examination and the matter will be reported to the police.

ur question booklet and OMR answer sheet before start answering. Make sure

11. Kindly check yo

that no page or question is missing from the question booklet or the OMR answer sheet is

damaged. If any defect is found in the question booklet or OMR answer sheet, the same should

be got replaced from the invigilator within 10 minutes of the start of examination

r Open this booklet only when instructed
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The sum of a1 ,
wmber and its square is 20. Then the number i3 :

~Sord
b) 2or3 ¢) ~5 only 5
2. Ifthe price of rice rises b o
! e rises by 25%, then by how much perce ' g i
SST06F 5 Kok Hls bt o e {,efgre ? percent must a man rcducﬁ‘ h,ts C";nuwmmion
a) 15% . ‘
A b) 20 % ¢) 25% d) 30% v
Directions (Q. Nos. 3-6) : i
.3-6) : Study the following graph and answer the questions : e
P wtt s 22
ercentage profit earned by two companies @
X and Y over the given years
Profit per cent = Income -Expenditure ¥
) el Expenditure 3100 l %/T\ o
—~
]M(_’ \ . / ~4-Company X -fill- Company Y @ o
0 L]
60 -4 e
.o 50
7 45 45
P %"‘ 9 i 40- $
/
T M Zr s
’ { E " Lz ' /o
o5, S
\qo 10 ' ;‘
L 0 ; ! + ¢ 4 ¢ }*ﬁ%p “/"
2006 2007 2008 2009 2010 201 9 v
Years
3. The incomes of two companies X and Y in 2010 were in the rati i
the respective ratio of their expenditures in20107 ' e e
ap—
a) 7:22 b) 14:19 ¢) 15:22 d) 27:35
4. Ifthe expenditure of company Y in 2007 was T 220 crore, what was its income in 2007 ?
- — A

a) T 312 crore b) ¥ 297 crore ¢) X 283 crore d) ¥ 275 crore

08 was T 200 crore and the income of company X

any X in the year 20
1. The income of company X in2011 was

The expenditure of comp:
{s expenditure in 201

in 2008 was the same as i

¢) T 335 crorc d) T 295 crore

a) T 465 crore b) ¥ 385 crore
ual in 2009, then what was the ratio of expenditure of

If the incomes of w0 companies were ¢4

company X to that of company Y ih 2009 .3
a) 6:5 b) 5:6 ¢) 11:0 d) 16:15
r only brother i8 the brother ff my wife.” How is

Pointing to a lady, & man gaid, “The son of he

the lady related 10 the man 7 e
 (ather-in-
a) Mother’s sister b) Grandmother < ero‘ ath
Yot
%

law d) Mother-indaw
@
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8.

10.

11.

12.

13;

14,

1§;

16.

17.

18,

a) configuration

b) accessibility
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Y0 b X ¥V
"y"”b 1 2% s » qu
It BT ) " @@ &
65a-33h = . :
e b=97ang 333 =65b =1, then whay js ‘ab’ equal 1o 9
il
va) 2 \ b) 3
y c) -2 d) -3
There is g relati
between figures tg,‘nzlr:lcf I;Jel;‘;?:;czriﬁhlcm ﬁg?:mb e o lstablish a similar relaliol‘lSh:g
2 a
replace the question mark (?) in ﬁ,lg,ureg(l‘J)-hluml @ flgwre from the Answer gl
Problem Figures Answer Figures
Ul C| ? A< B>
\ .
A B C D (a) (b) (c) (@)
Choose the correct mirror image of the figure (X) from the four alternatives (a), (b), (c) & (d).
\ | Yaq
® ®)
X) ) {e)
The first web browser is :
J 1}
a) Mosaic '@ Netscape c) Internet Explorer  d) Collabra
Which one of the following four words is odd ?
a) Programme b) Software c) Application 4j Peripheral
Which of the following is not an antivirus software ?
a) AVG b) Avast 2y McAfee d) Code Red
s
Arrange in ascending order the units of memory TB, KB, GB, MB,
w
a) TB>MB>GB>KB b) MB>GB>TB>KB c¢) TB>GB>MB>KB d) GB>MB>KB>TB
’ ; :
What do you call a single point on a computer screen ?
. 'S i
a) Cell b) Element ¢) Pixel d) Bit .
Output which is made up of pictures, sounds and video is called :
a) COM b) hard copy ¢) graphics @) multimedia
In MS-Word, you can detect spelling and grammar errors by pressing the key(s) :
Alt+ F7 d) F7
2) Shift + F7 ) Ctrl+F7 % )
i nas:
Verification of a login name and password is know

d) codification

¥



03/h

19.

21.

22.

23.

Directions (Q. No. 24-25) : Each of the following sentences contains an error of some kind. Read
each sentence and select the option that correctly identifies its error.
et

24.

235.

Directions (Q No. 26-27) : Choose the option that identifies the underlined word in the sentence.

26.
27.

28.

29.

a) Determiner b) Article c)/Prcposition d) Modal
Everybody hates him for his repulsive looks.
a) Verb ../l{ Adjective « ¢) Adverb d) Noun
Choose the word that has the same or nearly the same meaning as the word in capitals.
PROHIBIT
/a) Forbid b) Forfeit c) Forsake d) Forbear
Rearrange the following parts in proper sequence to obtain a correct sentence.

POWEI P i i f - l war IUIS O” ce
ot can dlSplay data rom Whic]l one Orthe EOHOWing add In softwa (4 Of ! .
a) qua ion i I {
li t edlto b) O[‘ganizalion chart c) F'hD 0 a[bul‘l’l .d‘) A“ 0' lll S
Which amo l i 1 L ?

4) +and -
i b) !and A c) *and? d) <and >

a) Body: i )
) Y We.lg‘ht #) Silk : Cloth ¢) Wood : Grains d) Ornaments : Gold

Select th ;
Now it (:eg:)nr;i?ltaf[;‘rm of the verb/verbs for the below sentence out of the four choices given.
il iy, ate (take) the matter out of her hands; and the insurance money would come

a) seemed, had taken bﬁ/seems, took c) seemed, has taken d) will seem, will take

Select the best idiom that describes what js being said in the following statement.

E;;tfl?::f:::asy and slightly unwell in office because of the late night party she attended the
N
a) to be under colour  b) to be colourless c) to be coloured c!yro be off colour
-

The park was serine at twilight.

a) Capitalization b) Punctuation pelling d) Grammar
: = 1 ,

Was the patient’s mind lucid duri;lg the evaluation.

a) Capitalization b) Punctuation c) Spelling ﬁf)/Gramma_r

We should be ioyal to our country.

P : youngsters in the cities and the villages
Q : The effect
R : ofthe cinema . 4
S : on the school and college going Is very ba _
a) PRQS " _pYQRSP o) QFSR d) RQSP
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30.  Spot the error in the below sentence.
(i) The mother brought the chucolates / (ii) and distributed them / (:1\1)/;)etween her / (iv) five

children.
a) (i) b) (ii) ©) (iii) d) (iv)
31. m%m%ﬁmﬁ%m—%ﬁ%w@@afﬁwm%
L{)Lﬁ:{fa b) a3g - c) Hﬁ»na*“ d) sggar
32 @,aﬁﬁ‘sﬁwﬁ?ﬁﬂﬂﬁ%%
a) aa’eaa-#éﬂaeﬂﬂw i @c) ﬁgaeg?;.p;r%m
O‘Q b) g7 Tws+ufdar Tfe?ava"tﬁ%m#eaem
”33_ H’?m%t?jra's‘aﬁmf%? @a&qqﬂwaauamf&wﬁ
a) HET o B o & @&
34, f‘amnamf%mwa?%mm?ﬁmeaﬁﬁﬂ TR feu ‘fonrs’ w3 Erﬁsman’aefararf%'ﬁﬂw
8 YdIe JIv I ?
a) UFST | qreewy -/;) qwevgaa_rgetga
b) UFET, uzsi d) UfoH=ewz, greewy
35 ‘@v@mmwﬁmgﬁﬁﬁ|m&vﬁwﬁm&: Abe A
B UTS g F=ar b) ¥ c) ¥& Jaer d) d=ar
Les =
36. ‘gﬁu%m?ﬁﬁﬁ—ﬁﬁtﬂa’r@am TE-F8 o= fafonr feRme 3 -
a) I THA b)mavagvaa c)fa-cfzrﬁa’f__ d‘)’f‘araema
37. w%mmﬁaém{mﬁmwﬁmaaﬁ—wwaﬁl@aﬁﬁﬁﬁm-."
a) 3TF b) 3, 3t F &Ie feg &, 3§ d) feg &
38. ﬁaﬁwfﬁnr@afl%ﬁ'a‘tr@agi
%ﬁ@ﬁ%%ﬁ%mwm%m
b) ﬁ?ﬂﬂ#@%ﬁ@fe&éﬁémwmmﬂﬁnﬁl
&E@H#azrsae?we%%feaeﬁ%mmw
d)ﬁ?&?ﬂﬂ%ae#%mmmaﬁweéﬁww g — }1,“'—
) L& )L
39, @pﬁﬁmjﬁ mﬁn@@mﬁaeﬁ@rﬂyﬁf?
a) Hrsft b) T ) HEE d) Wt
40. ‘Guz thit H@@zr’!jw%ermaa?r:
'J'-\:nb"fu'b " =
. 8) T ERE vb’)/ﬁwwezf \ ©) Y9 szl d) go due
i :’:g';g ll; :“daf)’ cricketer has made his debut as a commentator in the 0peni1;g match of world
a) RahUIhDravid LE)(Sadhin Tendulkar ) Ricky Ponting ~ d) Brian Lara |
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42.  Which organization has

illness 2 recognized 'burn-out' as medical condition and 'gaming disorder’ g

.
a) World Health Or
b) United Nations

¢) United Nations Educati lant:
i : onal, Scientif ization(UNESCO
d) United Nations Children's Fund(lf!lhlll%ég()l I )

ganization (WHO)

43. '
3. Who has become the first woman fighter pilot to fly Hawk jet ?

a) Avani Chaturvadi ) Bhawana Kanth ¢) Mohana Singh d) Priya Singh

44, :
Who has become the Youngest Parliamentarian in the history of Indian Parliament ?

a) Jothimani S. fb%jhandrani Murmu  c¢) Sumalatha Ambareesh d) Ramya Harida

6.35. Which company is India's most profitable public sector company ?

a) Oil and Natural Gas Corporation c¢) Bharat Petroleum -
b) Hindustan Petroleum d) Oil India

46. What was the theme of 2019 World Earth Day ?

¥

By Protect our species c) Better Water Better Jobs
b) Nature for Water d) Water & Energy

47. Who ascended the throne in Japan, ushering in the Reiwa era after his father Akihito abdicated ?

L e 8) Fushimi - e .Ll'_:j;ggisha als ) Nar;hito d) Hirohito
L. 48, Which colour number plafes should be used by all types of electric vehicles as per the
b guidelines issued by central fgovemment 2 R . :
‘A @) Green b) Blue . _eY Orange d) Green Yellow
i 49. Which nation has announced a ban on covering of the face with any kind of veil or burqa ?
ﬁ\ b) United Kingdom c) Sri Lanka d) United States

o 2) Australia

' 50. What is the full form of VVPAT ?
| A a) Voter Verified Paper Audit Trail ¢) Voter Verification Paper Authenticity Trail
Y b) Voter Verified Process Auditing Technology d) None of these
: ’ .

: ; i ries ?
51. What\?hould come in place of the question mark in the following number s¢

6, 21,88, 445, 7 -0
%éﬁh &E - bb{, 76 c) 2580 d) 2670
a) 2230 3 W20 26

; ch gold should be added
i i 50¢. It contains 80% gold. How mu S
gold and silver weights ?n s 10907

52. An alloy of

f gold
the alloy, so that percentage O
N i b) 60g : c) 30g d) 40g )
[)/w g | .
i / : _(l:l_/ ) L.O_va ?o

. | @ a0
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53.

54,

55.

60.

S il il T T

ol e

..,_.
e L

e

ol

Lﬁf’lﬁz b) 234 c) 262 d) 81 . \°

s~ s

fuoo = A 6 ?’:{j’ 716
An article passing throygf =
1t i
1* dealer makes a pmﬁtgf‘zg; hands is sold at a profit of 40% at the original cost price. If the
/- then the Wm made by the sccond is -
a) 1529 2
. b) 1620 ¢) 1329 d) 1129
The population of a town is 126800. It i i
4 . It increases by 15% in the first year and d by 20%
in the second year. What is the population of the town at the end of 2);ear ?n-—"ecmascs; ); ,‘,.z;. us 80
L
2) 174984 b) 135996 &5 116656 d) 145820 (267 g
c ')1'2:/
(&}

< 2186 are distributed among three persons A, B and C. If money given to them is decreased by b‘3“'5
T 26, T 28 and T 32 respectively, then they have money in the ratio of 9 : 13 : 8. What is the |2 6 \.
amount given to A ? oh T I 1—6'8’ o

a) T575 %’ b) T 640 c) 656 T 672 m:}
In a mixture of 60 L the ratio f acid and water is 2 : 1. If the ratio of acid and water in this {Q'L
mixture is to be made 1 : 2, then the amount of water (in litres) to be added to the mixture is : L /

a) 55 L ‘"{,@o ¢) 50 d) 45

A contract is to be completed and 234 men were set to work, each working 16 hours
a day. After 66 days, 4/7 of the—work is completed. How many additional men may be

employed, so ffiat the work may be completed in time, each man now working 18 hours a day ?

If two pipes function together, the tank will be filled in 12 hours. One pipe fills the tank in Q1 1
10 hours faster than the other. How many hours does the faster pipe take to fill up the tank ?

Ly
a) 20 hours b) 60 hours i hours d25hows  [6R I < 3

Two cars A and B are running towards each other from two different places 88 km apart. If the
ratio of the speeds of the cars A and Bis 5: 6 and the speed of the car B and 90 km/h, after

what time will they meet each other ? ¢

a) 38 min b) 39 min ¢) 45 min d) 32 min N\
A train overtakes two persons walking along a railway track. the first one walks at 4.5 kmfh and

the other-one walks at 5.4 km/h. The train needs 8.4 seconds and 8.5 seconds respectively, to

overtake them. What is the speed of the train, if both the persons are walking in the same o, | |
direction as the train ? / \ o L

2) 66 km/h b) 73 kmv/h ¢) 78 km/h d) 81 km/h -~ A

> N
e %o@%_ - @/w y,

\«?q %/j/ Space for Rough Work

gu® o %0@ . X")
“ "‘qa 7).8*’ é_

TV

Wi ot
>
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10.

1.

Do not open this booklet until you are instructed to dg g, ) Jala 4& :

Use of calculator, mobile phone or any other electronic device is strictly NOT allowed. 1. »
Handover the OMR answer sheet to the invigilator afier the . ation is OVer.

There are 40 multiple choice questions (four choices a, b, ¢, d with one right / appropriate

choice) in the question paper booklet.
Select the right / appropriate choice from the options given in each question. Each comect

answer will carry one mark.

There is NEGATIVE marking in the guestion paper. 0.25 marks will be deducted for each
4

answer.
T

N

Time limit for the test is 45 minutes.

Do not fold / spoil the OMR answer sheet. Do not make stray marks on the OMR answer sheet
For rough work, the space marked ‘Rough Work® at the end of question booklet may be used.
OMRAnswerSheetisnuttobetnkcnoutofthtExmninaﬁonHall.Any&mdidﬂefomddﬂiﬂg
so would beexpeliedﬁ'omﬁwexaminaﬁonandﬁlemaqumberqammdmﬂlcpoﬁw.
Kindly check your question booklet and OMR answer sheet before start answering. Make sure
that no page or question is missing from the question booklet or the OMR answer sheet is
damaged. If any defect is found in the question booklet or OMR answer sheet, the same should
be got replaced from the invigilator within 10 minutes of the start of examination.

Open this booklet only when instructed |

Page-1: Part —B(G-Vl) / Set-A




' _ solution is 4 kJ/kgK. The rate at which the g1 is 9100 1
' O the j M is
o -h!ltn%.}.[)?.__kj !!
]
¥
fl‘.~g9 g*

._!l,_ . The rate of heat loss thl'ough .
€ °  hotside and 30°C on the colq :i

2) 11.459 kW/m®
2 m b) 111.675 kw2

_ ¢) 34,56 kW/m’ d) 23.49 kW/m’
The principle nutrients hich get incrépseq i g, parboiled rice includ
o1led rice incluae :
a), Thiamine alone
‘Jﬂ‘ Thiamine and phosphorous 3 'IIr'haiam:lnel, niaf:in and iron
on and vitamin

3. Physical hardness of which cerea| grain is highest
est:

a) Rice

4.  Whi :
ich of the following carbohydrates is NOT classified as dietary fibre ?
a) A :
) Mg b) Pectin ¢) Sodium alginate &) Tapioca starch

5.

A material shows a constant dryi -
. rying rate of 0.15 kgH,O/(min. kg dry matter) and has an aw of 1
;’:omolstml . Foant above 1.10 kgH;O/kg dry mattef, How long will it take to dry this material 8%
m an initial moisture content 0{;5% (wet basis) to a final moisture content 8% (wet basis) ? 1<

a) 303 b) 313 ¢) 35.7 L) 823 i
5 |
6. The door t9 a refrigerated room is 3.048 m high and 1.83 m wide. It is opened and closed at
least five times each hour and remains open for at least | min at each opening. Calculate the

refrigeration load due to the door opening if the room is maintained at 0°C and ambient
temperature is 29.4°C.

2) 309 MJ ) 35.58MJ o) 76.89 MJ d) 45.85 MJ

7.  The objective of heating milk to about 65°C before homogenization is to inactivate :

a) Invertases ()ﬂ/l.actases ¢) Lipases d) Glucose oxidase
8.  Which of the following non-nutritive sweeteners contains similar calories per gram as that of
sucrose ? J
|
) Saccharin b) Aspartame ¢) Sucralose d) Cyclamate

9.  Which one is not the by-product of oil industry ?

a) Lecithin b) Bleaching earth c) Pectin Ld) Soap stock
10. The LMTD for counter current flow in a heat exchanger where one stream rises from 28°C to
75°C where as other flow fall from 95°C to 85°C. LT ?}
a)y’65.2°C b) 13.7°C c) 38.5°C d) 27.9°C D
. ‘f
. Moisturre content of potato is 85% (wet basis). In dry basis, the value will be : : .{
a) 333% b) 155% Lef 566.6 % d) 444 % o
- |
~T '
5 5 |
A . ,;" I
'ﬁ?- },,. - ! ’
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i ired to heat 100 L of
12. The quantity of heat requi OF Water jnjg; .
* 90°C is : (The specific enthalpy of water at 33°C j; ]:;_;I;ltla"y at 38°C to a final temperature of

ki/kg and that at 90°C is 136.8 ki/kg).
L 23826 KJ My 920000~ g 21000k
13.  One ton of Mango fruits at 35°C is to be cooled 3¢

Specific heat of Mango is equal to that of water.
the motor is :

2) 0345kW,7.8hp  by0234kW.3.4hp ) 0.745kW, 7.8hp  d) 0.745 kW, 3.4 bp

14, ;-:;{:1“' Jul;:::ei;s lpgsésingEI through an SS pipe of 1” diameter, schedule 40. The specific gravity of
J 4> and 1ts viscosity is 2.5 cp. The volumetric flow rate of the juice is 60 lpm.

The Reynolds number is : .
a) 2004 b) 40000 c) 10000 Af 20400
15. Th% refrigeration load when 100 kg/h of peas is frozen from 30°C to -40°C when the peas have a 24
moisture content of 74% is : ‘
- a 9%
a) 11.42 kW \/b‘)ﬁ?s kW c) 4.11 x 107 J/h d) 43.78 x 106 J/h
T ' 5! ~
16.  Sterilization value of a process has been calculated to be an Fy of 2.88. If each can contains 10
spores of an organism having a D, of 1.5 min. Assuming that the Fy value was calculated using
the same z value as the organism. The probability of spoilage (P sitge) from this organism is : ng’
==
&) 0.45 b) 0.32 ¢) 0.12 d) 0.06
17. F value at 121°C equivalent to 99.999 % inactivation of a strain of C. botullium is 1.2 mmn. Dy
value of this organism is : = N % e ok
" G"-dj.-—.
a) 0.43 min b) 0.24 min ¢) 0.65 min d50.12 min

18. Sealed tube containing equal number of spores of an isolate from a spoiled canned food were

heated for 10 and 15 min at 115.5°C. The survivors were, respectively 4600 and 160. The lag
time for héafing the tubes to 115.5°C was established in prior experiments to 5 mmn. D

v:itlili‘_w G

a) 1.23 min b) 3.42 min ¢) 7.89 min d) 4.56 min

h one is not the appropriate reason when oil bearing material is cooked prior to oil

19. Whic .
extraction because cooking :
otei ¢) Increases pressing efficiency -
:})‘ g;aegsu::‘ites e L)i-)’c‘ooking enhance nutritive value

20. Animal fatis extracted by :

a) Distillation  b) Mechanical extracinﬂn ) Rendernlg d) leaching

21. Among the 'fatsfoils the highest amount of s
b) Butter fat

aturated oil is present in :

. B .i
a) Coconut oil /6) eef tallow d) Palm oi
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22.  When wheat i
is :

is stored between 16° 2 ‘
o an : e
d 30% mojsture content, the mycotoxins e

X) Aflatoxin
b) Ochratoxiy d) Salmonella

. ¢) Botulinum
23.  Drying mode commonly used in all typeg £ oe
of cereal grain is :
Radiati

,_a.)/ diation b) Conductiop ¢) Convection d) Vacuum
24. :

The sweetness of HFS (DE: 95-96%) with respect fo SUCroSe taken as one is : e

a) 1.5 b) 2.0 oy18 d)3.0

25. Denaturation of proteins means :

a) loss of primary structure izati
_ ; ¢) De polymerization
p_} loss of three dimensional structure d)) co:,gu?:tr;on

26. More than 50% of the hull is composed of :

a) Cellulose and lignin c) Cellulose
b) Lignin and pentosans d) Pentosans and Ash -

27.  Which of the following enzyme is responsible for off-flavor development in cream and butter ?

d) None of these

a) Lipase b) Protease @Y Peroxidase
28. The fiber in food that produces necessary dietary m:Jghage is largely :
a) Cellulose by hemicelluloses & dextrin -d) Pectin
| ‘29 | JTI;;% energy“c‘onfez;:of };tgﬁm%dwrg;%nmm of pr:itein and carbohydrate ?
a) 3 times ) 2.25 times ¢) 2.5 times d) 2.75 times
ur

30. Which of the following is called milk ejection honnone/ ?

~4) Oxytocin b) Vasopressin ¢) Prolactin d) None of thses
31. Theshelf lifeof food product at 25°C is 200 days and at 35°C is 50 days. The Qo value is :
-"-‘- —
a) 5 b) 6 <) 4 d) 3

if the vapour pressuré of water is 4.242 kPa, the partial
pheric pressure is 101.325
N !

- \'1@53

37. At ambient temperature of 30°C,
pressure of water vapour in the atmosphere is 2.52 kPa and atmos

kPa, then the relative humidity is :

14
. g & a) 41.8% b) 59.4 % '{)/{:8.6% d) 742%
A
-’ £ £ '
33. Hot water at a flow rate of 0.01 m’/min enters the tube side of a counter currcn"t’shell and tube

heat exchanger at 80°C and leaves at 50°C. Cold oil at a flow rglc;g___fﬁ-(li_miﬁ,,“in of density 800

keg/m’ and Swi@ljﬁﬁﬁf—z kJ/kgK enters at 20°C. The log Wme is
_..______._,_———-‘

approximately :
4y 32 b) 37°C cV45 °C d) 50°C
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1 S
%

WM. Itis desired to concentrate & 20% salt soly . |
solution in an evaporator, Consider a feed m"lvfiﬂ_h in 106 kg MW{U wg}(ﬁjﬁ
solution ix 110°C, the latent hent of vapotizaio kg/min a1 3°C. The boiting poist
beat iy

ion is 4 kJ/kpK. The rate at which t s 2100 Kifkg and the ific et %

n) .1.003{'01 b) 6.12 x 105 w/?ux"f 5 nin 30:‘
' 35, The wet basis moisture content of a particula pra:,. : ) v basi
3 of that grain will be : Brain is 20%, The moisture content on dry bas:s
m hy2ize 825 % dy 30%

36.  The greatest pressure in a spherical tank of 2 m diameter filled with oil of specific gravity 0.92
if pressure measured at the highest point in the tank is 70 kPa will be :

~a) 90.13 kPa b) 88.1 kPa ¢) 79.4 kPa d) None of these

37. The percentage regeneration when cold milk entering a pasteurizer at 4°C atfains 2 iemper=ae
of 65°C after regeneration and 72°C after heating should be :

a) 90.25% 5y 87.13 % c) 7628 % d) 89.7%

38. 480 kg sauce is heated in a steam jacketed kettle from 25°C to 75°C using steam at 110°C. The
! product heating time is 30 min. The specific heat of sauce is 3100 ki/kg K and overall hest
; transfer coefficient is 300 W/m” K. The heat transfer area required is :

——

_— Vg
a) 2.8 m? b) 3.8 m? Y275 m d) 24 m >
-~ = = >
39, The amount of cream testing 35% fat that must be added to 500 kg of milk testing 4% & © wr
obtain cream tasting 10% fat shouldbe :
a) 20 kg b) 100 kg c‘ﬁ-zo kg d) 200 kg
2
40. Bacterial population in milk multiplies by a factor of 200 in 18 hours of storage at 20°C
temperature. The increase in population in 3 hours of storage at the same temperature is :
a) 5.85 times &},2.42 times ¢) 66.67 times d) 14.14 umes
> & i
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